Name: ____________________________________________________ Class: _________________________
Homework 26: 4/16/18 to 4/20/18
[bookmark: _Hlk510948931]Monday, April 16th, 2018
[image: ]

[bookmark: _GoBack]Tuesday, April 17th, 2018
[image: ]

Wednesday, April 18th, 2018
[image: ]



Thursday, April 19th, 2018
[image: ]
image4.tmp
The table shows the results of a survey of students and their parents. The
students and their parents were asked, “If you had an hour to spend by
yourself, would you prefer to read a book or would you prefer to watch TV?"

Free Time Survey

Read a Book | Watch TV
Students 18 32
Parents 25 9

Based on the results of the survey, which of these statements are true?
Select all that apply.

1 A Atotal of 84 people were surveyed.

. A total of 43 students were surveyed.

] C. Of the parents surveyed, 9 prefer to watch TV.

. Of the students surveyed, 18 prefer to watch TV.

71 E. Agreater percentage of the people surveyed prefer to read a book
than to watch TV.
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A designer builds and sells small chairs and large chairs.

The cost of material is $10 for each small chair and $15 for each large chair.
The selling price is $22 for a small chair and $51 for a large chair.

Part A

The designer spends $305 on material to make chairs. The designer makes 8 more small chairs than
large chairs.
« Write a system of equations that can be used to determine s , the number of small chairs, and { , the

number of large chairs, the designer makes.
* How many small chairs did the designer make?

Enter your answers in the space provided. Enter only your answers.

System of equations : {
Number of small chairs : (1

)
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Part B

The designer sold x small chairs and y large chairs. After subtracting the cost of the material from the
selling price of each chair, the designer earned a total of $312. The system of equations describes this
situation.

z =3.5y

12z + 36y = 312
Which pair of sentences correctly describes the chairs the designer sold?

A. The designer sold 3.5 times as many large chairs as small chairs.The designer earned $12 for
each small chair sold and $36 for each large chair sold.

. The designer sold 3.5 times as many small chairs as large chairs.The designer earned $12 for
each small chair sold and $36 for each large chair sold.

. The designer sold 3.5 times as many small chairs as large chairs. The designer earned $22 for
each small chair sold and $51 for each large chair sold.

© D. The designer sold 3.5 times as many large chairs as small chairs. The designer earned $22 for
each small chair sold and $51 for each large chair sold.
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PartC

The system of equations describes the number of small chairs, x , and the number of large chairs, y , sold
‘when the designer earned a total of $312.

=35y
12z + 36y = 312
Determine the number of small chairs and the number of large chairs sold.

Select from the drop-down menus to choose the number of chairs.

4 7
Number of small chairs:| 8 14
i 2 4

Number of lar hairs:
lumber of large chairs: 5 14





